O Bl 1: hello.c — “Hello.” EFRpRTH70T7T A

#include <stdio.h>
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main()

{
printf ("Hello.\n");

}
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(i) hello.c ® 5 THDES “\n” ZHIFRL T7 075 L&2HETL THL.
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O Hl2: suml.c BEONOFEZTZT70TIL(ZD1) (TESESEDDIZDITTH
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1 #include <stdio.h>
2
3 main()
4 { int BHEEOEHKZHEMTL-DDMR
5 int x, y, z; T BELREOT—RAE2RNT 200 T AN
6 = BEEVS TAWY LT —XEBMNT 500G
7 x = 5; printf ("%d\n", z); — BEEEKOFHEERRLILVWEE %d &
8 y = 3; 5
9 zZ=x+Y;
10 printf ("/d\n", z);
11 3}
R R 2:

(i) 101TH% Tprintf("sum = %d\n", z); 1 WKEHL TAHX.
(i) 73 TTHOBEZ ZHEL TH L.

(iii) 9 fTHZHIBR L, 10/ TH%Z Tprintf("sum = %d\n", x + y);1 WEHEL THL.
(iv) 3DODEHEDMERD S 707 T LMIEIEL Th L.




O Bl3: sum2.c — BHOMOFHEEZT 70T T L (ZD 2)

#include <stdio.h>

1

2

3 main()
st scanf  FeAe— KD F—REAN L, BRI AT
. TR BEEIE G, T REMIMT B 12012 f 5 TR
;

8

9

- 0
scanf ("%d", & x); BIIZIE & 2DUF 5%

scanf ("%d", & y);
printf("sum = %d\n", x + y) |

10 }

R RRE 3:

(i) 7, SITHZEHIFRL, ROV IZ Tscanf("%d %d", & x, & y);1 EEBML THL.
(i) 91TEH% lprintf("%d + %d = %d\n", x, y, x + y); 1 WEHL TAL.
(iii) 3 DDEF = AT, MzRkD 2707 T LIEIEL TH XK.




